
Examination: M.Sc Applied Psychology

SECTION 1 - SECTION 1

Question No.1
    

Menu: Food; Catalogue:?
 Books
 Newspaper
 Library
 Rack

Question No.2
    

Children are always _______ to know about things around them.
 wish
 curious
 like
 want

Question No.3
    

A tank is filled by pipe A in 20 minutes and pipe B in 30 minutes. Pipe C can
empty it in 45 minutes in full tank. If C is opened for 30 minutes, then pipe A and
B are also opened. The tank will be full in approx minutes.
 7 minutes
 12 minutes
 11 minutes
 8 minutes

Question No.4
    

Which of the following is not the criterion-based validity?
 Concurrent validity
 Factorial validity
 Face validity
 Predictive validity

Question No.5
    

“Education is the manifestation of perfection already in man” was stated by
 Swami Vivekananda
 M.K. Gandhi



 Sri Aurobindo
 R.N. Tagore

Question No.6
    

Your classmate who is usually very energetic and happy all the time looks very
down and upset. You-
 wait for her to come up and tell you the reason
 carry on with your work
 tell one of your friends to go and talk to her
 go up to her and ask the reason

Question No.7
    

Photographs are not easy to
 decode
 publish
 secure
 change

Question No.8
    

The three types of control used in experiments are:
 Manipulation, holding conditions constant, balancing
 Holding conditions constant, manipulation, unbalancing
 Holding conditions constant, manipulation, misbalancing
 Manipulation, unconditional constant, balancing

Question No.9
    

Choose the antonym for word “Myth”
 Truth
 Tradition
 Imagination
 Fantasy

Question No.10
    

BASED ON THE FOLLOWING PASSAGE ANSWER THE FOLLOWING
QUESTIONS



L, N, P, R, M, Q, T and Y are the members of a committee sitting around a
circular table but not facing the centre. Each member has a different zodiac
sign, viz., Leo, Virgo, Libra, Cancer, Aries, Gemini, Pisces and Scorpio, but not
necessarily in the same order. T is third to the right of P. The one whose sun-
sign Leo is second to the left of the one whose sun-sign is Libra. 
Y's sun-sign is Libra and is sitting exactly between P and L. The one whose
sun-sign is Pisces sits second to the right of N. The one whose sun-sign is Aries
is second to the right of the person whose sun-sign is Gemini. P sits third to the
left of the person whose sun-sign is Virgo. Neither Q nor L is the immediate
neighbour of N. Q is fourth to the left of L. N's sun-sign is neither Cancer nor
Ariel. The person whose sun-sign is Leo is sitting second to the right of the
person whose sign is Cancer. R’s sun-sign is Leo and is not an immediate
neighbour of N.

What is Y's position with respect to Q? 
 Fourth to the left
 Third to the right
 Third to the left
 Second to the right

Question No.11
    

What is the basal ganglia responsible for? 
 emotion 
 memory 
 visual perception 
 movement 

Question No.12
    

BASED ON THE FOLLOWING PASSAGE ANSWER THE FOLLOWING
QUESTIONS

L, N, P, R, M, Q, T and Y are the members of a committee sitting around a
circular table but not facing the centre. Each member has a different zodiac
sign, viz., Leo, Virgo, Libra, Cancer, Aries, Gemini, Pisces and Scorpio, but not
necessarily in the same order. T is third to the right of P. The one whose sun-
sign Leo is second to the left of the one whose sun-sign is Libra. 
Y's sun-sign is Libra and is sitting exactly between P and L. The one whose
sun-sign is Pisces sits second to the right of N. The one whose sun-sign is Aries
is second to the right of the person whose sun-sign is Gemini. P sits third to the
left of the person whose sun-sign is Virgo. Neither Q nor L is the immediate
neighbour of N. Q is fourth to the left of L. N's sun-sign is neither Cancer nor
Ariel. The person whose sun-sign is Leo is sitting second to the right of the
person whose sign is Cancer. R’s sun-sign is Leo and is not an immediate
neighbour of N.

How many persons are there between P and N? 
 None
 Two



 Three
 Four

Question No.13
    

Diabetes is caused by
 environmental factors
 the cause of diabetes is not certain
 interaction between hereditary and environment
 hereditary factors only

Question No.14
    

A child with dyslexia but with no other difficulties would be classified as having:
 Autism
 A specific learning difficulty
 Attention deficit/hyperactivity disorder
 A learning difficulty

Question No.15
    

Which measurement scale has the characteristics of specifying the distance
between stimuli in the given dimension?
 Ordinal scale
 Nominal scale
 Ratio scale
 Interval scale

Question No.16
    

What is Cronbach's alpha a measure of?
 Internal consistency of a questionnaire
 Validity of a questionnaire 
 Difficulty of a questionnaire
 Length of a questionnaire

Question No.17
    

What did Thorndike (1911) use to study learning?
 Puzzle boxes
 Free recall
 Classical conditioning



 Radial mazes

Question No.18
    

Behavior directed by self-accepted moral principles represents the __________
level of moral development.
 preconventional 
 unconventional 
 conventional 
 postconventional 

Question No.19
    

An influential psychological theory of schizophrenia proposed by Uta Frith in
1992 is called:
 Theory of the disordered mind
 Theory of brain
 System of thought in schizophrenia (SOTIS)
 Theory of mind

Question No.20
    

Guilford’s concept of intelligence includes what he calls: 
 Abstract Thinking
 Divergent Thinking
 Creative thinking
 Convergent Thinking

Question No.21
    

Most important characteristics of a counsellor is : 
 Feeling 
 Listening 
 Thinking
 Learning 

Question No.22
    

Introversion, in contrast to extroversion, is highly correlated to
 abstract thinking
 creativity



 intelligence
 sociability

Question No.23
    

Which of the following is not an output device?
 Keyboard
 Monitor
 Printer
 Speaker

Question No.24
    

Flower is related to Petal in the same way as Book is related to_________
 Library
 Page
 Author
 Content

Question No.25
    

Which of the following does not fall into the category of explicit memory?
 Semantic
 Procedural
 Prospective
 Episodic

Question No.26
    

Who is currently the Chief Election Commissioner of India?
 Achal Kumar Jyoti
 Sunil Arora
 Om Prakash Rawat
 H. S. Brahma

Question No.27
    

A X 4 = E
B 4 = E
C + 4 = E
D - 4 = E
(AND) A + B + C + D = 100, then what is the value of B&C? 
 ( 4 &16 )



 ( 48&8 )
 ( 32 & 16 )
 ( 64 &12 )

Question No.28
    

A personality trait is a
 specific motive
 specific activity
 distinct way of behaving in a specific situation
 particular ability

Question No.29
    

By which other name are identical twins known?
 Monozygotic
 Macrozygotic
 Dizygotic
 Trizygotic

Question No.30
    

Who has written "Counselling & Psychotherapy, 1942" ? 
 C.G. lung 
 Carl Rogers 
 Adler
 Sigmund freud 

Question No.31
    

What is the ultimate aim of counseling for the individuals to attain?
 Self-understanding
 Self-discovery 
 Self-direction 
 Self-knowledge 

Question No.32
    

6 people meet for a business lunch. Each person shakes hands once with each
other person present. How many handshakes take place?
 18



 30
 15
 21

Question No.33
    

EXPLORE: DISCOVER
 Write : print
 Read: skim
 Think: relate
 research: learn

Question No.34
    

Which of Kelly's corollaries assumes that people can hold seemingly
incompatible beliefs?
 Dichotomy
 Organization
 Choice
 Fragmentation

Question No.35
    

A group of scores against which an individual’s test score is compared is called
a
 reference group
 norm
 positive reference group
 standard

Question No.36
    

Sheela went 15 km to the West from her house, then turned left and walked 20
km she again turned East and walked 25 km and finally turned left and covered
20 km, how far is she now from her house?
 15 km
 10 km
 25 km
 20 km

Question No.37



    
Which of the following not an important factor in determining personality traits?
 Birth order
 Home
 Sex instruction
 Religion

Question No.38
    

What survey-research design is suitable to describe changes overtime in the
attitudes or behaviors of members of a population?
 Sectional design
 Longitudinal design
 Successive independent samples design
 Cross-sectional design

Question No.39
    

What are the stages of 'the skilled helper model'?
 Current, preferred, way forward
 Way forward, current, preferred 
 Preferred, current, way forward
 Current, way forward, preferred 

Question No.40
    

Choose the correct antonym of RIDICULE.
 Contempt
 Abuse
 Respect
 Scorn

Question No.41
    

Compared to pessimists, optimists tend to _____.
 be confident about solving problems
 be less able to cope with stress
 doubt that they can solve problems
 experience more distress

Question No.42



    
Who was the first to describe the “fight or flight response” 
 Sigmund Freud
 Walter B. Cannon
 Robert Folkman
 Atkinson Potter

Question No.43
    

The person who discovered the chemical basis of neurotransmission was:
 Otto Loewi 
 Ramon y Cajel
 Luigi Galvani
 Charles Sherrington

Question No.44
    

Genetic factors play an important role in determining
 only the intelligence level of a person
 stamina of the person and hair colour
 intelligence, emotional stability and schizophrenia
 schizophrenia

Question No.45
    

Jean Piaget gave a theory of cognitive development of humans on the basis of
his
 evaluation research
 applied research
 fundamental research
 action research

Question No.46
    

Hugo Munsterberg coined which of the following phrases?
 Developmental psychologist
 Educational psychologist
 School psychologist
 Psychopharmacological psychologist

Question No.47



    
Research into the relationship between attitudes and behaviour was conducted
by _____.
 Lewin
 Festinger
 Herzberg
 Maslow

Question No.48
    

Which of the following is most closely associated with language
comprehension?
 Aphasia
 Agnosia
 Broca's area
 Wernicke's area

Question No.49
    

Sanjay is twice as old as Anu. 3 years ago, he was three times as old as Anu.
The present age of Sanjay is
 16 years
 12 years
 14 years
 8 years

Question No.50
    

Which is an instant messenger that is used for chatting?
 MAC
 Microsoft office
 Altavista
 Google talk

Question No.51
    

In comparison to the sociologist, the social psychologist 
 relies more heavily on correlational research 
 is more likely to study the social causes of behavior
 is more likely to study individuals than groups
 gives less attention to our internal functioning



Question No.52
    

Specialized cells for receiving various types of stimulation are
 receptors
 effectors
 neurons
 glial cells

Question No.53
    

BASED ON THE FOLLOWING PASSAGE ANSWER THE FOLLOWING
QUESTIONS

L, N, P, R, M, Q, T and Y are the members of a committee sitting around a
circular table but not facing the centre. Each member has a different zodiac
sign, viz., Leo, Virgo, Libra, Cancer, Aries, Gemini, Pisces and Scorpio, but not
necessarily in the same order. T is third to the right of P. The one whose sun-
sign Leo is second to the left of the one whose sun-sign is Libra. 
Y's sun-sign is Libra and is sitting exactly between P and L. The one whose
sun-sign is Pisces sits second to the right of N. The one whose sun-sign is Aries
is second to the right of the person whose sun-sign is Gemini. P sits third to the
left of the person whose sun-sign is Virgo. Neither Q nor L is the immediate
neighbour of N. Q is fourth to the left of L. N's sun-sign is neither Cancer nor
Ariel. The person whose sun-sign is Leo is sitting second to the right of the
person whose sign is Cancer. R’s sun-sign is Leo and is not an immediate
neighbour of N.

Which of the following combinations is true? 
 M-Gemini
 Q-Virgo
 N-Scorpio
 P-Cancer

Question No.54
    

What hormone is released by the adrenal cortex at times of stress?
 Cortisol
 Acetylcholine
 Adrenaline
 Noradrenaline

Question No.55
    

Which of the following are the characteristic features of communication?
 Communication is a continuous process
 Communication is a circular process involves both information and

understanding



 Communication is a circular process
 Communication is not pertaining ideas, facts and opinions

Question No.56
    

Correlation refers to
 the causal relationship between two variables.
 a statistical method that can only be used with a correlational research

design.
 the proportion of variance that two variables share
 the association between two variables.

Question No.57
    

Choose the word which is MOST similar in meaning to the word “Chase”
 Conquer
 Follow
 Run
 Catch

Question No.58
    

Who developed the concept of locus of control?
 Christie (1986)
 Lerner (1980)
 Rotter (1966)
 Walker (1980)

Question No.59
    

Kyoto Protocol is related to
 Climate change
 Nuclear energy
 Ozone depletion
 Hazardous waste

Question No.60
    

_________ he is or I am mistaken.
 Or
 Neither
 Nor



 Either

Question No.61
    

What do aptitude tests measure?
 Innate abilities or potential
 Learned abilities
 Procedural knowledge
 Current educational achievement

Question No.62
    

According to Ryff, the striving for perfection that represents the realization of
one's true potential is:
 Psychological well-being
 Eudaemonic well-being
 Subjective well-being
 Hedonic well-being

Question No.63
    

Annotate is related to Text in the same way as Caption is related to _________
 Photograph.
 Film.
 Law.
 Novel.

Question No.64
    

Paraphilias are characterised by:
 Normal sexual urges and desires
 An absence of interest in sexual matters
 Repeated sexual urges, fantasies and behaviour deemed socially

inappropriate
 Problems of sexual arousal and response

Question No.65
    

The validity of a test refers to:
 how norms for the test were developed
 whether a test is consistent in its measurement
 whether a test is precise as a tool of measurement



 whether the test measures what it purports to measure

Question No.66
    

Sports psychology is accepted as what form of "science" in academic circles?
 Soft Science
 Social Science
 Hard Science
 Educational Science

Question No.67
    

Dyslexia is associated with
 behaviour disorder
 reading disorder
 mental disorder
 writing disorder

Question No.68
    

Asch's (1951) study is an example of what?
 Obedience to authority
 Minority and majority influence
 Group-think
 Normative influence

Question No.69
    

Spearman has developed the: 
 Two-type ability theory
 Two-factor theory of intelligence
 Concept of Abstract level of intelligence
 Theory of Mental Ability

Question No.70
    

Attribution, the process by which we determine the causes behind other’s
behaviour, involves focusing on which aspects of behaviour?
 Distinctiveness, consistency and influence
 Consensus, distinctiveness and attraction
 Consensus, consistency and distinctiveness



 Distinctiveness, consistency and attraction

Question No.71
    

According to Sternberg (1998) what is the ultimate form of love?
 Companionate
 Liking
 Consummate love
 Fatuous

Question No.72
    

The condition whereby a female has only one X-chromosome is known as
 Klinefelters’ syndrome
 Turner’s syndrome
 Down’s syndrome
 Achondroplasia

Question No.73
    

A sport psychologist's competencies include:
 confidence, frustration tolerance and networking ability
 emotional intelligence quotient, height and authority
 client welfare, professional relationships and assessment techniques
 personality, confidence and intelligence quotient

Question No.74
    

A produces 120 bolts/40 seconds; B produces 100/20 seconds. If the two run
simultaneously, how many seconds will it take for them to produce a total of 200
bolts?
 25
 28
 32
 22

Question No.75
    

Choose the proper alternative given in the codes to replace the question mark?
Bee-Honey, Cow-Milk, Teacher-?
 Wisdom
 Lessons



 Intelligence
 Marks

Question No.76
    

A is mother of B and C. If D is husband of C, then what is A for D ?
 Mother in law
 Sister
 Mother
 Aunty

Question No.77
    

At what level do we understand the complete meaning and sense of a language
structure?
 Prosodic contour
 Morphemes
 Phonemes
 Syntax

Question No.78
    

Which of the following a “Drama”must have?
 Story
 Sets
 Actors
 Director

Question No.79
    

Who argued that adolescence is a period of 'storm and stress'?
 Charles Darwin
 Sigmund Freud
 Erik Erikson
 Stanley Hall

Question No.80
    

At what stage does hypothetical deductive reasoning develop?
 Sensori-motor stage
 Formal operational stage
 Concrete operational



 Pre-operational stage

Question No.81
    

Environmental influences
 can change the utilization of the inherited potential
 can change the genetic makeup
 can change the personal skills
 cannot change the IQ level of an individual

Question No.82
    

The Telephone Model of Communication was first developed in the area of
 information theory
 dispersion theory
 technological theory
 minimal effects theory

Question No.83
    

In an experiment the stimuli were presented to the subjects in certain order and
after the presentation of stimuli their order was disturbed. In the test phase the
subjects were needed to set them in the presented order. Which of the following
methods was used in this experiment?
 Recognition
 Relearning
 Recall
 Reconstruction

Question No.84
    

BASED ON THE FOLLOWING PASSAGE ANSWER THE FOLLOWING
QUESTIONS

L, N, P, R, M, Q, T and Y are the members of a committee sitting around a
circular table but not facing the centre. Each member has a different zodiac
sign, viz., Leo, Virgo, Libra, Cancer, Aries, Gemini, Pisces and Scorpio, but not
necessarily in the same order. T is third to the right of P. The one whose sun-
sign Leo is second to the left of the one whose sun-sign is Libra. 
Y's sun-sign is Libra and is sitting exactly between P and L. The one whose
sun-sign is Pisces sits second to the right of N. The one whose sun-sign is Aries
is second to the right of the person whose sun-sign is Gemini. P sits third to the
left of the person whose sun-sign is Virgo. Neither Q nor L is the immediate
neighbour of N. Q is fourth to the left of L. N's sun-sign is neither Cancer nor
Ariel. The person whose sun-sign is Leo is sitting second to the right of the



person whose sign is Cancer. R’s sun-sign is Leo and is not an immediate
neighbour of N.

Which of the following is N’s sun-sign? 
 Pisces
 Cancer
 Gemini
 Scorpio

Question No.85
    

Hair and fat distribution in human body is controlled by the secretions from the
 adrenal glands
 gonads
 pituitary
 thyroid

Question No.86
    

Which factor is not much related to happiness?
 Meaningful religious faith
 Educational level
 Close friendship or satisfactory marriage
 High self-esteem

Question No.87
    

Applied behavioural analysis (ABA) is often used to help children with which of
the following conditions?
 Attentional deficit disorder
 Autism
 Dyspraxia
 Dyslexia

Question No.88
    

The gang age is ________ 
 early childhood 
 late childhood 
 babyhood 
 adolescence 



Question No.89
    

The government needs to provide (1) / specific regulations that create an
environment (2) / where trained scientific personnel enjoyed space and freedom
(3) / to design new products benefiting society (4).
 C
 A
 B
 D

Question No.90
    

Which of the following is the smallest unit within a language system?
 Phoneme
 Syntax
 Morpheme
 Word

Question No.91
    

The most appropriate meaning of learning is
 personal adjustment
 inculcation of knowledge
 modification of behaviour
 acquisition of skills

Question No.92
    

The messages regarding pain, pressure and temperature variations are carried
by
 spinal cord
 somatic system
 central nervous system
 automatic system

Question No.93
    

Which is not the problem to problem solving?
 Fixation
 Heuristics
 Confirmation bias
 Mental set



Question No.94
    

“Reinforcement will have positive effect on performance”. What type of
hypothesis is this?
 Null and non-directional
 Null and directional
 Alternate and non-directional
 Alternate and directional

Question No.95
    

The self-determination theory falls into which school of thought?
 Humanistic
 Cognitive
 Behavioural
 Social-cognitive

Question No.96
    

Although some think the terms "bugs" and "insects" are _________, the former
term actually refers to _____ group of insects.
 parallel, identical
 precise, an exact
 exclusive, separate
 interchangeable, a particular

Question No.97
    

Which of the following approaches was adopted by Piaget?
 The connectionist approach
 The teleological approach
 The phenomenological approach
 The constructivist approach

Question No.98
    

What concept did Festinger (1954) introduce?
 Self comparisons
 Schema congruence
 Schema incongruence
 Social comparison



Question No.99
    

The main mood-stabilising medication used in bipolar disorder is: 
 Lorazepam
 Risperidone
 Fluoxetine
 Lithium

Question No.100
    

Alcohol primarily affects which neurotransmitter?
 Glutamate
 GABA
 Anandamide
 Dopamine


